= CAREER POWER

AN I1IT/IIM ALUMNI COMPANY

Q1. The Lahore Resolution was presented by?
AR e faher & GIRT S 36T 1T o2

(a) Muhammad Ali Jinnah / FgFA= ST S

(b) Aga Khan III/ 31T @1 111

(c) A. K. Fazlul Huq / T & %Sl &
(d) None of these/Za® & &I Al

Q2. Which of the following was not involved in the Chittagong Armoury Raid, 1934?
Fuferfeag § T F19 e TR FiE, 1934 § qriAe 781 91?

(a) Kalpana Dutt /9T a1

(b) Surya Sen/gF &7

(c) Pritialata Waddekar/ Sifa=rar area™

(d) Dinesh Gupta/ faeer AT

Q3. Who spoke: “At the stroke of midnight, when the world sleeps, India awakes to life and
freedom”?

Tg e g | & "ameft T F w2 9%, 99 3T AT, ST shae s st & fore Sterar g7
(a) Netaji Subhas Chandra Bose / SdTsT AT 9+5 a4

(b) Mahatma Gandhi / F&TeHT et

(c) Jawaharlal Nehru / STATg AT A5

(d) C. Rajagopalachari / ®t. TSFTMATAATE

Q4. Who is the writer of Raghupati Raghav Raja Ram?
T T ST TH & AGH DT 62

(a) Narsi Mehta / 97T HgaT
(b) Premanand/ 9T+ &

- addazy1
(c) Chunilal / FH=TA | O\ Eaz
(d) Vishnu Digambar Paluskar/ s fasia qreqee

Q5. Who was the first Indian to be made a fellow of the Royal

Society of London?
COMBO (TIER-I + TIER-ID
(a) Srinivas Ramanujam/ fifaama TTHTISTT
(b) A.C. Wadia/ 7. Y. arf=m 30 TOTAL TEST
(c) C.V. Raman / Ht. 3. T09 * 20 Tier-l Mocks * 10 Tier-Il Mocks
(d) P.C. Mahalanobis/ 1. #T. AgTa=Ifa®
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Q6. Who wrote the song Vaishnav Jan To Tene Kahiye?

IS ST AT A Higd T e forar o172

(a) Narsi Mehta /A<&T #gar

(b) Premanand/S\T=

(c) Vishnu Digambar Paluskar/ e fasia qrefee

(d) Chunilal/ T[T

Q7. Which of these battles proved decisive in the Anglo- French rivalry in India?
T & Y Y TS AT F e wiagfRar § ks arfie g8

(a) Battle of Seringapatnam/&faTqeay #T =TS

(b) Battle of Plassey / TATHY #T =TS

(c) Battle of Mysore/ ﬁ'ﬁ({ T ASTS

(d) Battle of Wandiwash/ @feaer 1 @23

Q8. Who worte “Sarfaroshi Ki Tamanna Ab Hamaare Dil Mein Hai"?
"grRreft FY T u g few A g e % g ot A

(a) Mohammad Igbal /ATgF = THaTe

(b) Bismil Azimabadi /farffger srstraTaT<r

(c) Kazi Nazrul Islam / FTs{T A57% Z5ATH

(d) Firaq Gorakhpuri/ foFTre TR@q=r

Q9. Who was appointed as the first Indian member to the Viceroys Executive Council?
FIEAUTT FHERIE TRUT HT TZAT A 17 qaeq ¥ s fawgr wam am?

(a) Jawaharlal Nehru/STaTg <1 Ag%

(b) Satyendra Prasanna Sinha/fcd+= T&=T {9 gl
(c) Dadabhai Naoroji/aTaTdTs AL
(d) None of these/TaH & Fls Agl

Q10. Where did the East India Company set up its first factory in India?
T SIAT FIAT ¥ ATLT § IAT TZAT HIL@TT gt erfaa fm?

(a) Bombay /a{¥er

(b) Surat/fZa

(c) Sutanati /qaTeT

(d) Madras/HaT®

Q11. The Earth Summit was a major United Nations conference held in-
Tt fArE G Ua W@ G4 TF HAd Fd AIord f6dm 1w 91?

(a) 1980

(b) 1992

(c) 1990

(d) None of these/ TAH & Fls gl
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Q12. The Convention on Biological Diversity (CBD) entered into force on.
S RAfeear o a9« (CBD) F9 9T g1 A1?

(a) 29 January 1993/29 S=a<T 1993

(b) 28 December 1992/28 famwa< 1992

(c) 29 December 1993 /29 faaTa¥ 1993

(d) 20 November 1990/20 F9¥Z 1990

Q13. The rigid outer part of the earth, consisting of the crust and upper mantle is called?
FIAT T FSIL AT T, O 92q i S8 w2 anfHe € 6 47 FgT 14T 872

(a) Total Wild Life / e STetT Stare

(b) Biosphere/ Sia T=e

(c) Lithosphere / ®ITHE

(d) Hydrosphere/ StTTHEs

Q14. Which of the following is one of the major causes of greenhouse effect?
Fafafea & & F17 a7 Aag=sT 6T F @ FO0 § § TF 87

(a) Nitrogen /ATZ2ro

(b) Carbon Dioxide/ FTa ST FATES

(c) Carbon Monoxide / FTaH FATATFTZS

(d) Nitrogen Dioxide/ ATZZISIT STEAFATES

Q15. The largest ecosystem of earth is-

qeft T 999 F=7 ariRafad a1 87
(a) Biome / aT3TH

(b) Hydrosphere/ STTHE

(c) Lithosphere / ®ITHE

(d) Biosphere/ Sfia HEge

Q16. Which of the following is/are main objective /s of Convention on Biological Diversity (CBD) ?

Fafafag & & w7 s R*fawar w a=9«@= (CBD) 1 g&7 327 87

(A) The conservation of biological diversity/ Sitae fafarerar 1 Hxeqor addazuyi
& &) testseries

(B) The sustainable use of the components of biological diversity/
StTah fafererdT & =eahl & [EaTs STTN P X
(C) The fair and equitable sharing of the benefits arising out of the b

utilization of genetic resources/ FIATIAF HHATEAT & ITART H IcTH RRB JR. ENGINEER 2019
ATAT T FAeTer {7 = rE™Ta qrerH COMBO
(a) Only A/ Fa<t A (Mechanical & Allied Engineering)
(b) Only B/ #a< B 22 TOTAL TESTS
(c) Both Aand C /A 3T C g1 « 15 Mocks for First Stage

¢ 7 Mocks for Second Stage
(d)A,Band C/A, B3z C
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Q17. Which of the following is affected the most by soil erosion due to deforestation?
Rafiea & & a7 391 T FET8 F HIT T AILET a9 ST THEd giar 872

(a) Local Plants / TJTH1 d¥er

(b) Ecological System / qriefeerfasfrr sorreft

(c) Rain / a€HTq

(d) None of these / 3% & FIs gl

Q18. Which of the following is the factor responsible for environmental degradation?
Fufefea &  Fi7 a1 w@iaci feae * e S g?

(a) Continuous soil erosion/ AZa< HaT A&

(b) High population density/ 3F SIE&AT T cd

(c) Industrial pollution of air and water/ ZaT i qTHT & =TI T

(d) All of these/ g THT

Q19. Which of the following aquatic plant is effective in preventing the water-pollution caused by
industrial waste?

siren e srafars & FTor ster wguor &t s # i ® & S |7 sreiia oter Tt 82
(a) Water Hyacinth / ST it

(b) Elephant Grass/ =

(c) Parthenium / 9Ttz

(d) (B) and (C) / (B) &% (C) =4t

Q20. The Ozone hole over Antarctica was discovered in-
ST T ST BIST T GIST el Al s, A1?

(a) 1975

(b) 1984

(c) 1978

(d) 1987

Q21. The Earth summit held at Rio de Janeiro is associated with?

fr €t S & s gt fre g e e & 182

(a) Environment and sustainable development / T3 10T 3T Femoii= forsrme
(b) Greenhouse gases/ 9 gred T

(c) Ozone depletion / SATSTIH T FHIH B

(d) Wet lands / srssyfa

Q22. The Biosphere is a region of earth which supports life. It includes-

Shawes AT 7 TF &9F g ST A w7 GH F3q7 §. SaH qHIas 8-

1. Hydrosphere 2. Lithosphere 3. atmosphere
1. ST-H=o 2. BITHEA 3. ATHEA
(a)land3/13T 3

(b) Only 1/ %3t 1

(c)land2/1 3% 2
(d)1,2and3/1,2 3% 3
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Q23. Which of the following protocol is associated with ozone VA Eg??efi:;

layer depletion?
o § & #1 a1 et s a3q R & =T ger &2
(a) Montreal / ®ifreae

(b) Osaka/ ST ETHT
(c) Geneva / fSwaT COMBO
(d) Florida/ w=TTfe=T (CS & IT and Allied Engineering)

22 TOTAL TESTS

Q24. The Ramsar Convention is an international treaty for- « 15 Mocks for First Stage

THET Fe e %f?l‘Q’Q’EF #1q ((Iglﬂ Hﬁ-% ¢ 7 Mocks for Second Stage
(a) Environment and sustainable development / AT 3T

Hemott fawre

(b) Wet lands/ sTgs{®

(c) Ozone depletion / ST FT HIHF gTE
(d) Greenhouse gases/ 19 gT3H &

Q25. The Kyoto Protocol is an international treaty which is related to-
FIST TSI T eyt § i e & gefaa 87
(a) Ozone layer depletion/ ST T FHI¥H AN

(b) Greenhouse gases / {19 239 T4

(c) Wet lands/ sTasf®
(d) None of these/Z#H | #I< Ta!

Q26. In which type of economy property and businesses are owned and controlled by individuals?
ey i sreferereT ®, 9ufRy iR a9l #1 @i i SAReat g REfEa B smar 82

(a) Capitalist economy / GSTTATT SaTa®T

(b) Socialist economy/ FHTSATAT TTTFEAT

(c) Mixed economy / T srefeqareaT

(d) Command economy/ fH&fErT sriaraeaT

Q27. The term “Keynesian Revolution” is associated with-

“Keynesian Revolution” =¥ fq & gw=faa g7
(a) Prof. Samuelson / 3. §TAHT

(b) Prof. .M. Keynes/ SIT. SITH ¥

(c) Prof. Benham / 9T, s¥gH

(d) Prof. Baumol/ JT. STSHI

Q28. The existence of a parallel economy or Black Money-

QHTAT THTTEAT AT SAF HAAT il RIS -

(a) Makes the economy more competitive/ =Ta€AT &I ATereF TTaeTelT a=TaT 8

(b) Makes the monetary policies less effective/ HITaa ST T FHH TATAT IATAT &

(c) Ensures a better distribution of income and wealth/ 3T 3fI¥ &9 T Iga< fAqeor FETET FaT g
(d) Ensures increasing productive investment/ StqTae foaer # Ffax ﬂﬁf‘\k‘l_cf FLATE
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Q29. is a situation in which the same product or service is sold at different prices in
different markets.

et Rufa & SaH STeT-31emT ST # STeT-37eT Al 9% T gl ST AT JAT 941 1 g
(a) Traditional pricing/ IT3at<a® Fog fHerizor

(b) Cost plus pricing/ ¥RTT Afgd T4

(c) Dual pricing / Fg<T HHa

(d) None of these/TaH & Fls Al

Q30. Barter transactions means-

T AT T TG &

(a) Money acts as a medium/ F9T U ATEIH F T H HTT FAT §

(b) Coins are exchanged for goods/ f&g;  forw forg; 1 sa=-SraT™ T sirar 8

(c) Goods are exchanged with goods/ STHTH & | HTHTT & ATGH-T&TH 3T STAT

(d) Private ownership/ fA={T EaTiaca

Q31. What does free trade mean in economics?

STl | <h SATIT & HAAS FAT 52

(a) Free movement of only goods from one country to another/ T 3T & AL I9T | Hael ATHATAT &1 4
o AT

(b) Movement of goods free of cost/ a1t #F¥ e | ATATSTRT

(c) Unrestricted exchange of goods and service/ BTl 3T |41 & srufaa ea fafqaa

(d) None of these/ TAH & FIs AT

Q32. Fluctuation of economy including economic expansion and recession over a period of time is
called __.

i faeqTe ol ao it srafer & w<y iga sef=qae T § Sa-9819 F7 ___ Fgl 91av gl
(a) Expansion / fa=ame

(b) Recession/ H&t

(c) Business cycle/ =IadTI 9%

(d) Deficits/ =T

Q33. With which form of economy is the term ‘Laissez-faire’ associated?
SrfoaeT & T TohTX o T ‘SEEqR T 9153 J=T G &7

(a) Mixed economy/ T srer=raear

(b) Socialist economy/ FHTSATAT TTFET

(c) Capitalist economy / GSTTATAT €T

(d) None of these/TaH & Fls Agl

Q34. is a good that is in greater demand as its price increases.
T GTHIA g ST H19d 9@ & 91 78 T | 2.

(a) Essential goods / 3fraea= qTHTT

(b) Capital goods/ IS Td &T

(c) Veblen goods / F&a a&q

(d) Giffen goods/ R a&qU
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Q35. Externality theory is the basic theory of the following addazyi
branch of Economics- & & testseries

arerar Rrgia srferrer f Frrforfa amar #1 17 Rgia &-
(a) Environomics /ZeaTg A (Ha4

(b) Fiscal Economics/ fa=f=r srefermer

(c) unrestricted exchange of goods and service / AT 3T HAT & RRB JR. ENGINEER 2019
st A oo COMBO

(d) Trade free of duty/ =T T =TT (Civil & Allied Engineering)

22 TOTAL TESTS

Q36. Goods whose demand is proportional to price are called- * 15 Mocks for First Stage

ﬁ?ﬁaﬁﬁwm%ﬁmﬁ@?ﬁ%s%wwwmm%’? «7 Mocks for Second Stage
(a) Inferior goods / &= a=qu

(b) Normal goods/ HTHTT a&qU

(c) Veblen goods/ aaei= TEq

(d) Exclusive goods/ farere a1

Q37. Macroeconomics deals with-

TR sreferres fohaeh T gafaa 87

(a) The circular flow of income/ 3T FT TR TATE

(b) The decision making of a single economic variable like demand/ T# User e F¥ T o1 & AT
(c) Resource allocation at firm level/ %% ¥ 9% HHTLH 3ATeed

(d) Equilibrium prices and quantities/ H§qe H4 ST /T

Q38. Which sector is the largest employer in India?
AT § AT 97 &F g9 JeT AT 872

(a) Manufacturing / 3cqTa®

(b) Agriculture/ FT

(c) Services / HATU

(d) None of these/zH & FIs A1

Q39. Which of the following will cause an increase in demand for a good?

9 & & .7 aEgat Y 9T 7 i T FR0T grav 827

(a) an increase in income if the good is an inferior goods/ If% a*q T & a&q g a1 T H Fig
(b) an increase in the price of its substitute goods,/ F& T EEE &t FEd 7 I

(c) a decrease in income if the good is a normal goods/ I TEJ Th HHTT TE] ERE DR
(d) None of these/TaH & Fls Agl

Q40. The relationship between the value of money and the price level in an economy is-
FfaeIT # g1 F o Sl ToF &< &SI 97 e 52

(a) Direct / et

(b) Inverse/ 31T

(c) Proportional / STATIA

(d) Stable/ fFarx
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Q41. Which among the following is not a characteristic of oxidation reaction?
Fafatea & & 17 ar srwor st & @ewar 98 82
(a) It involves addition of hydrogen/ZHaH ETEg IS T HATSIA ATHA &

(b) It involves addition of oxygen/THH SIS T HATSIH ATHT &
(c) It involves loss of electrons /SHH T2l T ~H AT g

(d) It involves addition of electronegative element/ THH FEUTTCHE dcd T AT ATHA &

Q42. Mohiniyattam is a dance form of which state?
Aifgrergw g a5 FTTT T2

(a) Andhra Pradesh/strers=er

(b) Assam/3TqH

(c) Kerala/®¥&T

(d) Tripura/ﬁ'ﬂTr

Q43. How many bits does an IPv4 address contain?
IPv4 T® # fhaw faea gra 87

(a) 64 bits / 64 f&=d

(b) 32 Bits / 32 faew

(c) 128 Bits /128 faeH

(d) 256 Bits / 256 faza

Q44. Medulla oblongata is a part of which of the following?
Ao AraA=TTer et § & fraer Rear 82

(a) Heart / fa=

(b) Brain / ¥f&q®

(c) Lungs / F%s

(d) Stomach / 9=

Q45. Bacteria was discovered by

FFRATET e g @S T&T?

(a) Antonie van Leeuwenhoek / TZIHT afT sqavg(®
(b) Belarus / IATEH

(c) Hugo de Vries / =317 St It

(d) Robert Brown / Tiae aT39

Q46. Achras sapota is the scientific name of

FHY 1T et AsTAs 91 872
(a) Custard Apple/ HraTHer

(b) Gulmohar/ AHEY
(c) Tamarind/ 9T

(d) Chiku/=%
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Q47. The number of biogeographical zones in India are addazyi

AT H AF-HTI T &A1 1 geAT fhat 872 & o) testseries
2
o) 10 SSC CPO PRIME

()5 (TIER-I + TIER-II) 2019
(d)6 40+ Total Tests

v~ 20 Tier-l Mocks
Q48. Which of the following is responsible for Vermicomposting? EEry R4z S er @l iy,

FHfEnRET F forg Fafefea & & #:919 a1 ‘e §? v 10 Tier-Il Mocks
v~ 20+ eBooks
(a) Fungus / &a
(b) Worms / 90
(c) Bacteria / ST
(d) Birds / weft

Q49. Shabana Azmi is not one of the following
e & & erameT sy R w8 ?

(a) Movie Actress / foew stfera=ft

(b) Activist / FTIHRAT

(c) Feminist / AT{aTaT

(d) Folk Dance / &7 7

Q50. Which planet is known as red planet?
T T AL AT Tg & €T § ST SATAT 82

(a) Mercury / g4

(b) Pluto / T9

(c) Mars / §7TT U8

(d) Venus / g%
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